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U 2 23 2 £
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nse &2 N AH cet )
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" Hl D&
39,891,627 39,543,275 348,352
= 182,706 174,706 8,000
Al 195,139 194,139 1,000
- 39,513,782 39,174,430 339,352
3,744,258 4,057,404 A 313,146
Al 19,000 19,000 0
- 3,725,258 4,038,404 A 313,146
42,575 136,575 294,000
42,575 136,575 294,000
20,000 110,000 290,000
0 20,000 220,000
28 03 0 20,000 A20,000
04 20,000 90,000 AT70,000
A0 2 RELE
2 & 20,000,000 20,000 90,000 A70,000
otE A 8,875 12,875 A4,000
grz2tor= 0 4,000 A4,000
= &X AE 23 0¥ 0 4,000 A 4,000
A= M 2,428,683 2,558,062 A 129,379
S8& 1,430,843 1,465,925 A 35,082
18,980 29,062 A 10,082
22NSES 18,980 29,062 A 10,082
2l 9,687 14,531 A4,844
2 8,590& *x4AI2H+2H 80 5,498 8,247 N2,749
2 8,500& *x4A|2H+2H x40 2,749 4,124 A 1,375
2 & 80,000 2 x4& 640 960 A 320
2 & 50003 x2H+80 800 1,200 A 400
SXAE 2tel 9,293 14,531 25,238
O 2 8,500& x4A|2H+2H 752 5,154 8,247 A 3,093
2 8,500& *x4A|2H+2H x40 2,749 4,124 A 1,375
O 2 & 80,000& «2H x4& 640 960 A 320
O 2 & 50003 »2H+75& 750 1,200 A 450
22 1,406,863 1,427,863 A 21,000
A2 HHI 0 21,000 A21,000
O A NH dx(x - - 1M) 28 03 0 12,000 A 12,000
O A XH H==(R0}H) 23 0¥ 0 9,000 29,000
303 Z& 3 4,000 8,000 A 4,000
01 Z&3 4,000 8,000 A 4,000
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SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
O ZZJ2Hl S 23 N=SA 2D
A 4,000,0009 4,000 8.000 A4,000
CxEE B 4,130 14,130 A10,000
201 Yer2 | 970 10,970 A10,000
03 A2t 0 10,000 ~10,000
O A BS 93& 233 o 0 10,000 A10,000
NARHOH 2 Y (S) 665,918 750,215 84,297
101 9124 bl 632,318 716,615 A84,297
VRN EESETPS 632,318 716,615 84,297
O £X S BN JANZEX 56, 199 140,496 84,297
0 Jle3 AT 68,7208 %2 +2402 32,986 82,464 £49,478
O R25L+Z T 68,7208 2B 1202 16,493 41,232 £24,739
O =4y 2T 80,0008 *2% * 122 1,920 4,800 £2,880
O 24| 2F 5,008 x2% *2402 2,400 6,000 £3,600
O s 2F 5,008 x2% *240 2,400 6.000 £3,600
ZRCY 2UBE A QA 742,025 831,792 £89,767
SHNIR S X 1,980 28,980 A17,000
303 T3 5,500 22,500 A17,000
01 Za3 5,500 22,500 A17,000
© EIYZR JIEGE AT 500,000 %1% 5,500 22,500 A17,000
T2 1S 2Y(5) 317,130 389,897 AT2,767
201 et | 219,680 246,980 £27,300
01 AFR 22l t] 219,680 246,980 £27,300
© AL DK 216,600 241,100 24,500
O Mg DRIIB(LAATHHLE S) 3,000 27,500 24,500
- MY HYDS B 33 0¥ 0 24,500 24,500
© A%z 1,000 3,800 £2,800
O X% 2YNS UHY YVE T 02 0 2,800 £2,800
202 04t 97,450 142,917 A45,467
05 22 DR 77,450 122,917 £45,467
© Dol 77,450 122,917 £45,467
O W DRIIJ(SUHED S) 33,800 44,000 A10,200
- M2 DSV Y 100,0008 120 2,000 18,000 6,000
AFE DSHE P 60,0008 51302 7,800 2,000 £4,200
O Ny nSJIB(FHARHLE S) 3,750 5,617 A1,867
- MY 2ADS B 23 o= 0 1,867 £1,867
O 52 DEIB(NYRAAWHLE S) 39,900 73,300 33,400
- 53 SEXBLH(6F)
A 2,450,000 «2 4,900 20,800 A15,900
- 2 DB P 350,0008 100 35,000 52,500 A17,500
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YHSAPH (2D 36, 147,369 35,485,871 661,498
2 182,706 174,706 8,000
Al 176,139 175,139 1,000
2 35,788,524 35,136,026 652,498
olze (=Y 52) 35,723,002 35,072,660 650,342
2 182,706 174,706 8,000
Al 176,139 175,139 1,000
2 35,364,157 34,722,815 641,342
oletedd(28 52) 32,027,455 31,387,113 640,342
101 21214 Hl 23,076,908 22,500,226 567,682
IERS 22,144,160 21,832, 155 312,005
0 =3 16,735,458 16,423,453 312,005

O 32 (DHIN o)
2 103,094,0008 *1% 103,004 104,570 A1,476
O gers 16,605,448 16,291,967 313,481

- 3B (HUBE =)
2 94,004,008 *1% 94,004 92,739 1,265

- 43(522E a=)
2 94,228,700 +5% 471,144 280,008 191,136

- 53(HEBE =)
A 75,876,8008 +25% 1,896,920 1,775,840 121,080
02 JIEHE 2 4 932,748 677,071 255,677
0 LIHBE 485,073 431,441 53,632
O Je3 454,900 401,268 53,632
- 63 2% 53,687,0008 %1% 53,687 50,748 2,939
- 78 2 37,791,540 %58 188,958 144,891 44,067
- 83 A 45,485,340 +3% 136,457 132,645 3,812
- 93 23 37,899,000 x2% 75.798 72,984 2,814
CRSEEE 202,045 0 202,045
O JI22(93152) 1,642,8008 *18% +62 177,423 0 177,423

O ANZa+g(BuL)

8,798 * 182 *10Al 262 9.502 0 9,502
O HAZ A 140, 0008 » 18 +6F 15,120 0 15,120
204 XD 43 AH| 952,260 879,600 72,660
02 Mg x| 952,260 879,600 72,660
O werx 907,320 852,420 54,900
O =% 2 400,0008 +5% « 128 24,000 14,400 9,600
O 53 2 250,0008 +259 » 128 75,000 66,000 9,000
O 63 2 165,0002 #1072 128 211,860 196,020 15,840
O 73 2 155,000 *153% « 128 284,580 282,720 1,860
O 8-~ 93 2T 145,0008 *167% 128 290,580 281,880 8,700
O mzzee N 9,900 0 9,900
- DALY 300,000 * 12 112 3,300 0 3,300
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SN HH - (EH) - HRAY - BES Hl DS 2
ST 600,000 * 1«11 6,600 0 6,600
CREE-R 1,980 1,860 120
O 62 (4 2T 165,0008 «12 122 1,980 1,860 120
© YerdlH 19,980 18,000 1,980
O 73 2T 165,0008 4 « 128 7,920 5,940 1,980
O HIAE 145,000 « 182 «6% 15,660 0 15,660
ol eyl (212 Z2) (OIS SEAL 22 A 86,870 76,870 10,000
OIAHIXIR)
= 69,496 61,496 8,000
Al 8,687 7,687 1,000
e 8,687 7,687 1,000
101 Q121 b 86,870 76,870 10,000
= 69,496 61,496 8,000
Al 8,687 7,687 1,000
e 8,687 7,687 1,000
03 RIHA2Z R4 86,870 76,870 10,000
© OtSSE At oIl X
23 86,870,000 86,870 76,870 10,000
= 69,496 61,496 8,000
Al 8,687 7,687 1,000
- 8,687 7,687 1,000
22 AH(Z2) 173,929 158,253 15,676
ol 2oyl 173,929 158,253 15,676
101 Q121 b 173,929 158,253 15,676
RS 171,015 155,339 15,676
O A4 (SIHET)
3682 14 x40 Al 2+ 128 2,473 0 2,473
© Aelag S SHIA 1, 28 2) (S
FHEH) 3682 3 +67 Al 2t #1224 888 0 888
O ANASl+g(ZaE)
12,0028 * 12 x40 Al 2t x6°2 2,881 0 2,881
o a2 S(HYNAR)
L0028 #1312 +1/4+6 A1 24 54 9,434 0 9,434
AH(E2D) 250,438 254,958 £ 4,520
=2 250,438 254,958 £ 4,520
201 et | 38,062 37,562 480
01 At 2H2l | 38,062 37,582 480
© Sl 34,720 34,240 480
O 220 P23 ZAH(ZEE)
8,000 12+ 102 +62 480 0 480
202 01| 59,000 64,000 A5,000
NETET 59,000 64,000 A5,000
O JZYRET AUEZ O
23 67,000,0002 67,000 72,000 A5,000




